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malaria <- c(6,10,18)

pop <- ¢(180,220,80)

names (malaria) <- c("OO","COO","0QdQO")

positive <- malaria/pop

negative <- 1-positive

tab <- rbind(positive,negative)

rownames (tab) <- c("OO","00™")

print(tab)

op <- par(mar=c(5,4,4,6.5)+0.1,xpd=NA)

ip <- barplot(tab,main="00000000000",col=c("red","white"))
legend(ip[3]1+0.7,0.7,legend=rownames (tab) ,fill=c("red","white"))
text (ip-0.05,positive+0.05,paste (malaria,"d /",pop,"0"))

par (op)

prop.test(malaria,pop)

pairwise.prop.test(malaria,pop)

mosquito <- c(1,2,4)

prop.trend.test(malaria,pop,mosquito)
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library(vcd)

hh <- as.table(c(79,61,13,2))

names (hh) <- 0:3

print(res <- goodfit(hh,"poisson","ML"))
summary (res)

plot(res)
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x <- matrix(c(12,9,8,10),nr=2)
chisq.test(x)
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X <- matrix(c(80,20,55,45),nr=2)
chisq.test(X)
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Pearson’s Chi-squared test with Yates’ continuity correction

data: X
X-squared = 13.1282, df = 1, p-value = 0.0002909
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smoker <- c(80,55)
pop <- ¢(100,100)
prop.test (smoker,pop)
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calc <- as.factor(c(1,1,2,1,2,2,1,1,2,2,2,2,2,2,2))
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print (X <- table(bf,calc))
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c/mag cmq

goboooooooo

a/b _ ad

c/d b
goooooooooao

aje _ ad

b/d ~ be

0000000000000 000000000000

OO0O0OORDO fisher.test ) 00000000000 Oad/bc00000000000000DO000DOOOOO
OO0Ofisher.test() D00DDO000D0DD00DOOOO0ODDOO0DODODOOOODOOODOOOOODOOODOO
0000000000000 00000000000000000000000ved000000 oddsratio() OO
Olog=FO0O0DODOO0O0ODO*O0D0D000DO0OO0OODDOO0

0000000000000 0000000000000000DDD000000000000DoDoDoonoDoon
0000000000000 000000D00000000D00000000D0D00000oNDoDoooo0on
0000000000000 000000000000000000000000DDDDDDo000DoDooo0o0og
0000000000000 0000000000000D00D0DDD0000000000000NDoDoDononoDonon
0000000000000 0000000000000D00D0DDD0000000000000NDoDoDononoDonon
0000000000000 O0O0O000000ooo

000000000 Ooo0O0DOOoooog

oo0ooo 0OO0oo oo
oo00ooooono 4 99996 100000
oo0oooooooo 2 99998 100000
oo 6 199994 200000

(4/100000)/(2/100000) =200 00000000000000000000000000000000000O0
000D000D0000D00000000000000000*2000000000000000000000000
00000000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000000
0000000 1000000 1000000000000000000000000000000000000000
0000000000000000000000000

ooo oOoooooo go

gooooooooooogo 20 10 30
gooooooogao 80 90 170
oo 100 100 200

goooooooooooooOoOoooooobooooO0oO0 2000000000000 OODOODOOOOOOODO
gobooooboooooooooboooooboooobooooboooooboooooooboooooOobooDboooobooo
gboooooooooooboooooooooboooboobooooooboboboooobDoboboboobooboo
ooooooooOoo200ooOo0cofdooooooOoooooOoll..00DOb0O00OooooobOoOoooo

2l 0gpoo0o00DoDo0onon
(a+0.5)(d + 0.5)

(b+0.5)(c+0.5)
00000000000000000000000000000000000 summary(oddsratio()) 000000000000O0OOO
confint(oddsratio()) 00D 0000000000000 DDDDOOO00O0O00ODODepitools 00000000000 oddsratiol
000000000o0o0o0000000o0ooooooooOan

*2200000000000000 (4%99998)/(2 *99996) ~ 2.00004 0 00000000000 0000000000
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220000000000000C0000O0O0OCOO0OOOOOOOOOOOOOOOOOOODOOOOOODOLOO
goboooooboooooboooooooooooobooooboooooOoooooOooboOoOoOoboOobOoobOoOoobooOoo
gobbooobooooobooooooobooooboooobobooooboooomm

gobooooboooooooooooooooboboooobooboOoooboboooobobooooboobooOoboobooOoOoobooOoOoo
gobooooocooooboooooboooooooobobooobOOo0ooOoOoOoboOobOoOobOob0OobbObOOobbOOooboOoOoo
gobooooocooooboooooboooooooobobooobOOo0ooOoOoOoboOobOoOobOob0OobbObOOobbOOooboOoOoo
00000000000000000000000000000000000000000000000000*230

goboooobooooooooooobooooboobooooboOooboboOooObOobooOoboObLObObobOOoobooOOoo
gobooooboocooobooooobooobooboOooOoO0OobOOoO0OobOO0ObOObOOUobOboOuoDbooO

goboooobooooooooooobooooboobooooboOooboboOooObOobooOoboObLObObobOOoobooOOoo
000000000000 mUuooo0oooUodOYuleD QUUOOODDOOOODOODODOUDOOOOOOOO
gobooooboooooobooooobooooooooooobOooobOOoOoboOoOoobOobOoOobOobOobbOOooboOoo
gobooooboooooobooooobooooooooooobOooobOOoOoboOoOoobOobOoOobOobOobbOOooboOoo
000000000000 0000000 test-retest-reliability 00000000000 00000000000O
gobooooooobooooboboooboobooom

0000000000 9%%oo000

0000000000000 %% 0 0000000000000000000000000000DO00O0O00OoaQ
ooo00ooo0mOOm, 00000000000000000 XO00O0O0OO0oOo0OYOoOoOooooooooooo
goboooo

od oooo dd
oooo X mp — X my
oooo Y MQ—Y ma
oo X4+Y N-X-Y N

00000000000000000000000000000000 m =X/mO0000000000 7 =Y/ms
00000000000000 RR=m/m = (Xmy)/(Ym;)00OOD

00000000 NOOODDOOOOOODOOOOOOOOO000000000000000000000000
0000000000000000000000000OBailey0000000000000O0O0OOOOODOOO
95%0000000000000000

RR - exp(—qnorm(0.975)\/1/X — 1/my + 1/Y —1/m,) 0000
RR - exp(quorm(0.975)y/1/X —1/my + 1/Y —1/mo) 0000

O000000RROOOOOODOOOOOOOOOOOOOOOOOOOOOOOOOCOOOOOOOOOOOOO
000000O000000ROOO0DOOO0OO0O0COOO0pO0DOOO0O0O0 RR=1000000000000
. it10-4-2006.R B

riskratio2 <- function(X,Y,m1,m2) {

data <- matrix(c(X,Y,m1-X,m2-Y,m1,m2) ,nr=2)

colnames(data) <- c("OOOO","00OO","O0O™)

rownames (data) <- c("OOO","O0QO0O")

print(data)

RR <~ (X/m1)/(Y/m2)

nl <- X+Y; T <- m1+m2; n2 <- T-nil

p.v <= 2*(1-pnorm(abs((X-n1*m1/T)/sqrt(ni*n2*mi*m2/T/T/(T-1)))))
RRL <- RR*exp(-qnorm(0.975)*sqrt(1/X-1/mi+1/Y-1/m2))

RRU <- RR*exp(qnorm(0.975)*sqrt(1/X-1/m1+1/Y-1/m2))
cat("OOUOOODOOO:",RR,"(p=",p.v,") 9500 00O=[",RRL,",",RRU,"]\n")
}
riskratio2(4,2,100000,100000)

23 000000000000000000000000000000000009%%000000000000000000000000
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gobooooooo

oooo oooo oo
oo 4 99996 1e+05
ooo 2 99998 1e+05
000000000 : 2 (p= 0.4142103) 95%0000=[ 0.3663344 , 10.91899 ]

0000 epitools 0000000 riskratio() 000000000 D0OO0OO0DO0O0OOOOODOOOODOOO
ooooooooooo

library(epitools)
riskratio(c(99998,2,99996,4))

00000000 (Exposed2) 0000000 20 95%0000 (0.37,10.9) 000000

000000000000 rateratio) 000000000000 0000D000000000DO00O00O0
000000000000000”midp’000”%wald’000”boot’"000000000000O0O0O0O0OOOOO
0000000000000 0D000000000000000000O0O0O0O0O0O0OOOOOOOOOONOOOn
method="wald"0D 0000000000000 000000C0 median-unbiased 00 0000000000000
000000000000000000000000000000000000000D0D0D00000000000
000

library(epitools)
rateratio(c(2,4,5%100000,5%100000) ,method="wald")

00000000000 2095%00000 (0.37,10.9)0000000000000000000 0 Onedian-unbiased
000000000000000000000 @

0000000000000000000 a,b,e,d0000000000000000000 OROOOR =
(ad)/(be) 0000000000000 D00O000D00O000000O Cornfield (1956) 0000000000
00000000000000 9% 00000000000000000000009%000000

OR - exp(—qnorm(0.975)y/1/a + 1/b+1/c+1/d) 000D
OR - exp(qnorm(0.975)y/1/a + 1/b+1/c+1/d) 0OOO

O0O00Comfield000000000000D0OO0ODOOO0OOO0O0OOO0DOOOO0OOO0O0OOOOOOOOOO
0000000 Exact 0000000000000 O00O0O00D0O0OO fisher.test() O0DO00O0OOO0OOOOOR
0000000000 0p000000 OR=1000000000000

rit10—5—2006.R ™

oddsratio2 <- function(a,b,c,d) {
data <- matrix(c(a,b,a+b,c,d,c+d,a+c,b+d,a+b+c+d) ,nr=3)
colnames(data) <- c("OOOO","00OO","O0O™)
rownames (data) <- c("OOO","0OO","00O")
print(data)
OR <- (a*d)/(b*c)
N1 <- a+c; M1 <- at+b; NO <- b+d; MO <- c+d; T <- atb+c+d
p.v <- 2*(1-pnorm(abs((a-N1*M1/T)/sqrt (N1*xNO*M1*xMO/T/T/(T-1)))))
ORL <- OR*exp(-gnorm(0.975)*sqrt(1/a+1/b+1/c+1/d))
ORU <- OR*exp(qnorm(0.975)*sqrt(1/a+1/b+1/c+1/d))
cat("OOOIOOOODOO:",0R," (p=",p.v,") 95%0000CO = [",ORL,",",0RU,"I\n")
}
oddsratio2(4,2,99996,99998)

J

0000000000000 0000O0ORDO fisher.test() JOO0OODDOD0O0OODOOOOOODOO epitoolsOO
0000 oddsratio.fisher() O0***0 0 Out of workspace 10 0000000000000 O0D0DDO00000

*24 oddsratio(...,method="fisher") D00 00000 Oepitools 000000 oddsratio() 0000 midplfisherwaldsmall [
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vedDOOOOO oddsratio() 0000000000000 DOO0O0OOOODOOfisher.test() OO0 Out of
workspace 10 00000000 200000000000000000000000000000000O00O00OO
00000000 workspace 00 0000000000000 0O0O0O0O0OOO00O0O0OO0O0O0OOO0O0O0O0OOO

( it10-6-2006.R ~
X <- matrix(c(4,2,99996,99998) ,nr=2)
fisher.test (X, workspace=10000000)
require (epitools)
oddsratio(c(4,99996,2,99998) ,method="fisher")
detach(package:epitools)
require(ved)
OR <- oddsratio(X,log=F)
ORL <- summary(oddsratio(X))
ORCI <- confint(OR)
M<- c("OOOoooooogt,r (p=",") 9540000 =LC"," , "," I\n")
cat(M[1],0R,M[2] ,0RL[1,4],M[3],0RCI[1],M[4],0RCI[2],M[5]) )
gopogoopoogoooogg
95%0 000
od oooo ooboo oo oo
000000 oddsratio2() 2.00004 0.4142 0.366 10.9
fisher.test() 2.000022 0.6875 0.2866 22.11
epitools O oddsratio.fisher() 2.000022 0.6875(midp 0.453) 0.2866 22.11
ved 0 oddsratio() 2.00004 0.1898 0.4262 9.386

gbooooboogoo

0000000000 OO000O00000000000000000000000000000000000m, -7

00000000000 O00000000000000000000000000000 (m —m)/m

000 0D000000000000000000000000000000000000000000000
(m —m2)/(1 = m2)

000000 O0OO0O0O0O0O0O0O0000000000000000000r = (X+Y)/(mi+ms)0000
(m—m)/m

0000Q 00000 -10010000000000000000000Q =(0R-1)/(OR+1)000000
0ooooo

00000 (¢) 000000000000 1,000000000000000000000006,,6,000000
00000000000000000000000¢=+/(m —m)@:-6,)000000x00000000
0kxmOODO0DO000D000000000000000000 20000 n00000+/x2/n00000
00kOmOOOOD0OOD0O00O000+¢000000000000000v4—-10000000

00000000000000000C 0000000000000000000000000000000000
0000000000C=+/4%/(1+¢5)000000000000000000 000 /{F—1)/40000

000000V 0000000000V =¢/yfi—10000000000000000010000000000
000000000000000

00000000 o000ooo0o0ooOo00oO0o0oOO0o0ooOO0O0 Voooooooooooooooooo
000000000 ved0OODOOOO assocstats() 0000000000 OO0OO0OOOOODOOOOOOODOOO
goobooooooooooooobooooobooooboooooooobooooooobobooooOoooDbbooobooo
goooooboooooboooboooooobooobooobooooooooob0omooooooooooobooobo
gobooooboooooooooboooooboooobooooboooooboooooooboooooOobooDboooobooo
gobooooboooooooooboooooboooobooooboooooboooooooboooooOobooDboooobooo

004000 method 000000000000 DDOO0O0DDOOOOOODOOOO S3method 0000000 M riskratio() 00D
O rateratio() 000000000000 O0OO0DOOOD0OOOD0ODO0OOOODepitools 000000000 DOOOOOODOOODO
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oooooooooooo20000O0ooooooooooooooon

require (ved)
assocstats(matrix(c(4,2,99996,99998) ,nr=2))

kD000

gboobooobobooboboobobooboobooboobbobboobobobboobOoOobDOdOtest-retest
reliability0 0 0 0 0000000000000 000O0O00O0O0O0O0O000O0OO0O0O0O0OO0OOved0OOOOO
000000 agreementplot() OO OO0OO0OO0O0OOOO

O000Oo 0OO0Ox oo

O00o a b my
ooox c d ma
od ni no N

0000000D0D0000000000000D00000D000000000D000000000000000000
00000000000000000000 P, =(n;-m/N+ny-my/N)/NOOOODODOOOOOOODOOOO
0c0000000000xO00000000 P,=(a+d)/NOOODODOOODOOk=(P,—P.)/(1-P)00000
00+~0000000000000000000D000000000O000O00DO00

x000 V(k)0OV(k)=P,/(N-(1-P,))000000x//V(x)00000000000000000000
000x=000000000x09%000000000000000000000000x0000000000
0000D00x0000009%00000000000000 ROODODO0O0O0O0O0OO00x000000000
0000000000000000000000000D00 0000000 10000000000000x0000
000 2000000x000000000000030000000000x0000000 1900000000
0000000000000000

/~it10-7-2006.R N

kappa.test <- function(x) {

x <- as.matrix(x)

a <- x[1,1]; b <- x[1,2]; c <- x[2,1]; d <- x[2,2]

ml <- a+b; m2 <- c+d; nl <- a+c; n2 <- b+d; N <- sum(x)
Pe <- (ni1*m1/N+n2*m2/N)/N

Po <- (a+d)/N

kappa <- (Po-Pe)/(1-Pe)

seKO <- sqrt(Pe/(N*(1-Pe)))

seK <- sqrt(Po*(1-Po)/(N*(1-Pe)"2))

p.value <- 1-pnorm(kappa/seK0)
kappaL<-kappa-qnorm(0.975) *seK
kappaU<-kappa+qnorm(0.975) *seK

list (kappa=kappa, conf .int=c (kappal,kappal) ,p.value=p.value)
}
kappa.test (matrix(c(10,3,2,19) ,nr=2))

J
ved0OOODO Kappa() 000 mxmOO0O000DO000D00D00DO00D00000 k000000000
0*0000 confint() 00 0000000000000 ODOOOOOOOO0O00000O0O0OODOOOOODODOO
0o0O0oOoO0ooOoooooooo*2o

*25 000 Po0 Pe00OOOOO weights=0 0 0000000000000 000O weights="Equal-Spacing"000000000000OO
0000000 Oveights="Fleiss-Cohen"0 000000000 MOO00ODO ncOO0O 1-(abs(outer(l:nc,1:nc,"-"))/(nc-1))"2
000 Oweights="Equal-Spacing"0 0000000 1-abs(outer(l:nc,1:nc,"-"))/(nc-1) 000000000000 x00000O
000000000 2000000000000000 matrix(ec(1,0,0,1),nc=2) 0000

*260 D000 0000<O0000000000000O00009 000000000000000000000000000000 poor 000
000-0.2 0 slight 0 0000.21-0.4 O fair 00 0 00.41-0.6 0 moderate 0 0 0 00.61-0.8 O substantial 0 0 0 00.81-0.99 O almost
perfect 00001 0 perfect 0000000 Landis and Koch, 1977, Biometrics, 33: 159-17400000000000000000O0
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a N

require (ved)
print (myKappa <- Kappa(matrix(c(10,3,2,19),nr=2)))
confint (myKappa)

\ _J
. Cronbach 0 « N

00000000 CronbachD « 0000000000000 00O0O0O0O0O0DOO0DOOOO0OO0OOOOOOODODOO
gooooooooooooooooboooooooooooooooooooboo0ooooooooooooooooon
0000000000000 00000000000000000000D00000O000O00O00DO0O00D000 Cronbach
OabO0O0OO0OO

goooooooooooOoOoOOOOOOO0O

[DDDDDDDIZIDIZIDDDDDDDDDDDDDDDEIDEIDDDDDDDDDDDDDDDDDDDDDDDDD ]

gboooooooooooOoooooobOoboOoooooboOoooobooOoooOoOob0ooOoOoooOobo0ooooboboOoooOoooOooon
omoooo

gboboooooooooobooooooooooboooooooooooooobooooboooooooboooooobooOon
goooooooooobooOoOoOoOO0OO0O0O0O0000

poooooooooooOoooommooboobooooooooboooboooOboOoOOOOOOOO0mOOODOOOBDRO
pooooooooOoOOOOOOO0OO0OO0O0OO0O0O0OO0OOOOOOOOOOOOOOOOOOOOOO0OOO0OOOOCOCOOOO

goboooooooooooooOoooooOoooOoOoooOoobooOoOoOoooOooooOoOo0oooOoOoOoooOooOoooboOon
go0oooooooooooboooOoOoOOOOOOOOOO0O0

gooooOooOoOooOoOoOO0 120000 1I000000OO0OOOOOOOODOODOOOOOOOOOOOOOOOOOOOODOO
goooooooooooboooobooooboooooooooooOooOooOoOoOoDbOOoO0oDObOOobOO0oOoboOobooOooooboOoooooo
gobooooooobooooooboooomoooooobobooooooooboooomWooooooboooooboOoooo
goboooooooooboooboobobooooooooooboooooooboooboooboobooboboOooooooboOooo
gooboooooooooooooooo
goooooooooooooogoooooooooOooooooOOoobOooDOOoooOoUoDoOoboboooobooDobOooDo
000000 z3 00000000000 2z 00000000DO0OCO00DOOCOOODO0OODOOOODOOxz30 200000
00 7442 00000000000000000 amm?Dlilammw:%DDDDDDDDDDDDDDDDDDD
gopoood
goobooooooooobooooobooooooo0oooboooo@mooboooooboooooboooooooobDbooooo
goooobooooooboboooboooboboooooooooobooooooobobooobo0oobOoobOoobOooDbbbobooboooo
gobbooobbodbeb0O00bobO0o0O0nO0b0OO0O0O0OOO0O0OO0O0O000nO0D0000000O0O0O0O0O0O0O0OO0OO0O0ODOO
OD00000 Quyaggs Qarges 00000000000
0000000000000000 Cronbach o 000000 O0MOO00O000000O000O00O0O0O0OOOOO0O
0000 D000 000000000000 102023 00000 Cronbach 0 00

3 551+S§2+S§3

@=gz 30~

s2, )
0000s,;, 02 000000000000D000 Cronbach o0 0.8000000000.7000000000000
Jod0oo00o000ooDoo0o0oooooooooo

X, Y, z0OO0ODOOODOOOOOOOODODOOO0OOOO0OOO0OOCronbach D o 0000000000 ROOOOOODOOO
ooao

T <- X+Y+Z; VX <- var(X); VY <- var(Y); VZ <- var(Z); VT <- var(T)
alpha <- (3/2)*(1-(VX+VY+VZ)/VT)
print (alpha)

N J

go0boo0O00b0O0OO0OvedOO0O000O0O0O0O0OO0DOOOOODOOOODOOCOOOOODOOOOOOOOOOOODOOOOO k=000
00000000000 o0O00oO000o0oOo0oooDoO
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gobggo

O0000OCronbach0 « D000 MUOO0O0O0O0O0OO0O0OOO0OOOUOOOODOODOOOOOOOOOOOO
goboooooooooboooooooobooooboooooboOooooOoOoOobooOoboOobOoOoOobOobOobOoOoOoboOoon
goboooboooooooooobooo

gobooobooooooooobooooooboooooOooooooobooooboobooOoboobooOoOooobooOoOoon
oooooooooooooooooooooOoOObObOOOoOoOoOoOoDOOCbOOOoOoOOoOoOoODO 120000000
gobooooooooobooooooooboooobobooooboOooooOoOo0obooOoboOobOoOoOobOobOobbOOoOoboOoon
gobooooooooobooooooooboooobobooooboOooooOoOo0obooOoboOobOoOoOobOobOobbOOoOoboOoon
gobodoobooooooooooobooooboooobooooon

Rothman(2002)**"00000000000000000
1. J0J00ooooooooooooooooo

2. 000000000000000OOOODOOO

3. 0000000000000000000

ooboooooooooooooooooooooooo

gbobogbobogoboo

goboooobooooooooooobooooboooooboboOoooboboOooOboOoooOboOobObOObOOOoOobooOOoo
oobooobooooooo

rith—S.R ™
# 000 Simpson EH (1951) The interpretation of interaction in

# contingency tables. J. Royal Stat. Soc. Ser. B, 13: 238-241.

males <- matrix(c(4,3,8,5),nr=2)

dimnames (males) <- list(c("OO","O0"),c("OOOO","O0O00O"))

females <- matrix(c(2,3,12,15),nr=2)

dimnames (females) <- list(c("OO","OO"),c("OOCO","0O0OOM)

total <- males+females

require(vcd)
prop.table(males,?2)

summary (oddsratio(males))
prop.table(females,2)
summary (oddsratio(females))
prop.table(total,2)

summary (oddsratio(total))

J

000000 Simpson 000000000000 OO0DO0O00O0OO0OOOOOOOOOOODOOOOOOOOOO
gobooooobooooobooooboobooooooooboooooboooooboooooOooboOoOooboOobOoobOoOooboOoo
gobooooobooooobooooboobooooooooboooooboooooboooooOooboOoOooboOobOoobOoOooboOoo
goboooboocooboooo

gooooooooooooooooooooooo@mooooooooooooooooOo p390000000
0000D0000000000*00000000000000000000000000p =0.0010000400

*27 Rothman, KJ (2002) Epidemiology: An Introduction. Oxford Univ. Press. 0 00000000000 (2004) 0000000000
goooooo0omOooooooOoOoOoOoOoOooooooo

*28 0 000Dcensored 000 0000000000000 O0DO0OO00OO00O00OO00OO00OON0OO0DOOOOO0OOOOOOOOOOOO
goooooooooooooOooooOoOooooOoOooDoOoOooDoOo0oDOOoOoooDbooOooDoboo
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000400000000000000000000000000000000000000000000 p=0.27,
p=10000004000000 4000000 IDDMOOOOO0O0O0O0 NIDDMOOOOOOO0O0000040000
00 IDDMO 0.46 0000 NIDDM O 041040 00000 IDDM O 0.008 0000 NIDDM O 00000000
000 IDDMOODOOD00.290000 NIDDMOODOODO00400000000000000000000000
00000000000000000000000000000004000000000 IDDMO0OOO000 40
000000000 4000000000000000000000000000000

/-~ it10-9-2006.R(1) ~

over40 <- matrix(c(311,218,124,104) ,nc=2)

under40 <- matrix(c(15,0,129,1) ,nc=2)

dimnames (over40) <- list(c("OO","O0O"),c("NIDDM","IDDM"))
dimnames (under40) <- list(c("OO","OO"),c("NIDDM","IDDM"))
print (over40)

fisher.test (over40)

print (under40)

fisher.test (under40)

total <- under40+over40

print(total)

fisher.test(total)

N J

goooooogn

gobooooboooooooobogoooooooboooooboooooboooobboooboooOoboboOOoBooboOoo
goobooooooooooooobooooooooooooooooboooooooboooobooOobooDbbooobooo
gobooobooooooo

gobooooboooooooobogoooooobobooooobooooboooobbooobooooOobobooOOoBoboOoo
goobooooooooooooobooooooooooooooooooooboobobooboOobooDbbooobooo
ooboooobooooo

goboooobooooooooobogoooooobooooobooooooooboooboobooOobDboOOoBDoboOoo
goobooooooooooooobooooobooooboooooooobooooooobobooooOoooDbbooobooo
0000000o0o0o0o0oo0ooooooooooooooooOoo 120000000

goboooobooooooooobogoooooboooobooboooobobooooboboooboobooOobDBobooOoOoBoobooOoo
gobooooboooooooooboooooboooobooooboooooboooooooboooooOobooDboooobooo
goboooobooooobooooooboooooooooooobooboooboooobooobooooobOoooboo
gobooooboooooooooboooooboooobooooboooooboooooooboooooOobooDboooobooo
00000000000000*°0R 00 mantelhaen.test() 00 00000000000000000000O0
O000000000000000x00000000000000000 9%%00000000000000000
goboooobooooooooobooboooobooooobooooboobooooobooo

gooooooooooooooOoooooooooOoOooOobOoOooOboOoOoooOoboOoOoOooOoboOoOoooOoboOoOooan
000000000000 000000000000000000O000000O0O00000DO000 WoolfOODO
goooooooooooooooooboooboOoOoOoOoOooooboObbbboboboOoOoOoOOOOOOOOOOOO0OOAO
00000000 0*¥°0Woolf 0000 vedODO O OO woolf_test() D0DDDDDDDOOOOOD ved O
00000 fourfold) O0DO0DOODOODO0ODODDOODOOOODO vedOODOOOO mesaic) OO0O0ODOOODO
oboboooboooooooooooooooooooooooooooooooooooooon

O00o00000O0xO0000000 under400 over40 0000000000 CO0OO0O0O0O0OCOOOOOO0N
o0 xO0O0oooooooo

*290000000000000000000000000000000000000000000000000 QUOO0O0O00000000
000000D0O0O00000D000 (1987) 00000000000 DO000D0D. D0DDO00000O, 34(5): 255-260.

0 0000000000000 0000000000000000000000000000000 100000000000 k00000
00 k0000000000000 0DO000000000000000O00000O00O0O0O0O0OUo0O

17



it10-9-2006.R(2)

x <- array(c(over40,under40),dim=c(2,2,2))
dimnames(x) <- list(c("OO","00O"),c("NIDDM","IDDM"),c("40000","40000"))
print(x)

00000000000 array() 000000000 0DO0ODOODOOOOOOOWoofOOODDOODOOOOOO
Jjo0oo0o0o0ooO000ooOO0o0oDoOo0o00oDbO000oOoO000oDOo00o0oDO00ooDoO0o0ooDoDoOoOoOooDoOOoa
O000000000000000Ofourfold) 0 grid0 00000000000 layout() DOOOOOOOO
gooo
( it10-10-2006.R ~

x <- array(c(311,218,124,104,15,0,129,1) ,dim=c(2,2,2))

dimnames(x) <- list(c("OO","O0"),c("NIDDM","IDDM"),c("40000","40000"))

require(ved)

woolf_test(x)

mantelhaen.test (x)

y <- array(c(x[1,1,],x[2,1,],x[1,2,],x[2,2,]),dim=c(2,2,2))

dimnames(y) <- list(c("40O000","40000"),c("O0O","O00"),c("NIDDM","IDDM"))

structable(y,split_vertical=T)

fourfold(x)

mosaic (y)
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